o2 13 2ol A = 90° Q1 A7 o] A A of| 4] HlEo] W=l
Z=Ao] d& H 2 51, AB = 3vV2em , AC = V7em , /BAH =
x, ZCAH =y & ©f, 3sin? x — 2sin?y 9] F-S L5toi2).




45° < x < 90° o] Al He] Zo]7} sinx, cosx, tanx I

P o, x 9] e Potolet.

e = |
c



3. The AR Hols Tatele




4. T I9o4 AD = 8cm, CD = 3cm & W, ¥ O 9] ¥ &2

ol
71 73

@ Ecm @ 12cm ® Ecm
37 25

@ Zcm ® =cm



o2 23 Zol AP oA d O
o]1, /AOB = 120°, PB = 6 V6cm ¥

rlo
=l
I
r

O OP = 12V2cm

@ AP = 6V6cm
® AB = 6V6cm

Py
@ 5.0ptAB = 4V2rem

® (0OAPBO] &d]) = 16 V6cm




T 2HNA 90 O ABY F BH A, BN 1L F HA ¢,
m It Y O e A P oA 3__0_14/\41,]._,] wAHe 7247+ D, Cah_
gtth. AD =1, BC =4 ¢ , DABCD 2] Yo|& Fstolzt.

m




I3 o]

g

=1:

90919 ¥ 4 A, B. C. D o tfste] AC 2 BD )
P 2t 5}a, /APD = 30°, 5.0ptAC : 5.0ptBC :
5:1 ¢ o, LACD 9] 27| Ftstoiet




8. the 2ol M CABCD 7} 9ol T u, LBAE ©| 2715 a2

D

Esh P C
&/

@D 148° @ 147° 3 146° @ 145° B 144°




o2 O olA oABCD & Yo WHsta
(BPC = 20°, /BQA = x°,/ADC = 120°
A o, x o] k& FStA?

® 20° @ 25° ® 35°

@ 40° ® 45°




10. o8 1383} Zo] 27+ ABCDE 7} 9 O o] st A =
70°, /D = 150° & W}, /BOC 9] =7]S F5}oizt,




11. & FAzZH4Zg o4 AB = BD = DC, AD = C
2v2 d o, cosx 9] S FoFH?

310 V10 3
@ 10 @ 10\/_ ® 10
@ 103«/10 5 103 3




b94 371%.

@D 0°

- (
0

V3+1x+ V3=09 F &2 tana, tanb 2t3L
(&, tana < tanb , a,b = 1Z})

@ 30° B3 45° @ 60° ® 80°

el



13. oh 29 Zol
7H1 Q1 ARE 2ol A
&35t} OB 9 2o

g o] 2o y

o E% o]

= 1.0724 C

ohH? 1

A
€T
0 B D=

95 sinx COSzT tanz
43° 0.6820 0.,7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0,7314 0.6821 1.0724

@ 0.6821

@ 0.7314

@ 0.6947 @ 0.7193

3 0.9325



14.

51 Aol A om ol ZolA 4
e o 2 249 27171 51°, W
s 2to] 2717 36° ik ol A A
9] Eol& otofet. (H, tanb1° = 1.2,
tan 36° = 0.7)

@® 9.2 (m) @ 10 (m)
® 11.4(m) @ 12.6 (m)
® 13.2(m)




15. o3 I"olA AABC 9] Hol&

22°

T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

@ 240 cm? B 360 cm?



D
® 3AB =CD ® 3A0AB = ACBD
7N\ N an N\
® 5.0ptAD = 5.0ptBC @ 35.0ptAB = 5.0ptCD

3 3AB < CD



17. o2 T9lA aABC o Wi 2 aDEF o] 13 2lo|t}. /BAC = 48°
, /FDE = 65° ¢ w, /DFE ] 27]E Fs}oizt,




18.

oS 3 Zol ¥ 0 9] oo g4
P oA F ZAS 0] ¥ O o whdt
@%QQA CD&&E@O

o @ OJoz}w@gEar

EF =49, 909 ol 75t
97

-

@ 100 @ 1007

@ 100 ® 100V3x




19.

o2 1994 BQ=2,CQ=1°]1,AB=x, CD=y

A g pog
Xy

st



20. /B =60° /C =45°, BC =4 2l 479 ABC 9] ¥lo|& F3loiet.

SER
c



21.

(B = /C 9l o]5HAZY ABC |4 /A = 45°, BC = v2 & o,
AC” 9] ghe Fatofal,

e
=%



0|7} ZVZY 9cm, 3ecm Q1 Y5 R
ouy gt Hg
ol= Azts )

%ol
g 29 2270l E Tatolet (2,

cm



23.

Ho17k 1672 €0 919] Al A A, B, C ol oiste] AB = 5, AC — 3
A uf, 2 A o4 @ BC o Wl S410] o] Lol Fatelet



24.

ohg TelA A M-S 5.0ptAB ] 54 TN
°]a, AM = 9cm, MQ = 6cm & ™, A B

PQ o] Zol& Falolal. ‘
9em MQ

ge o

P



